AS - Business AAS AS - Business - OHIO A AS - Technology Online A AS - Professional Pilot A Bachelors B SS - Accounting** B SS - Aviation Management B SS - Business Administration B SS - Business Administration - HR Specialization B SS - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C SS - Information Technology - Information Technology Management B SS - Information Technology - Web Development B SS - HealthCare Administration B SS - Management B SS - Management B	ASAO ASB/ASBV ASB - OHIO ASTO ASTO ASPP BSA/O BSA/O BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM/O-HR BSM/O-HR BSM/O-HR BSM/O-HR	Hours Hours Ho	305.00 305.00 455.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00 455.00	 \$ 18,300.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 	Resources 36.62 36.62 36.62 36.62 36.62 36.62 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64 71.64	Fee 1,700.00 1,700.00 1,700.00 1,700.00 1,785.00 1,190.00 1,190.00 1,190.00 1,190.00 1,190.00 1,190.00 1,190.00 1,190.00 1,360.00	300.00 300.00 300.00 315.00 280.00 280.00 280.00 280.00 280.00 280.00 280.00 280.00 280.00 280.00 280.00	Fee 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00	Fees	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	Cost 20,436.62 20,436.62 20,436.62 20,436.62 20,500.00 20,751.64 20,751.64 20,751.64 20,751.64 20,751.64 20,751.64 7,740.00 20,751.64
Associates AS AS - Accounting Online A AS - Business A AS - Business - OHIO A AS - Technology Online A AS - Professional Pilot A Bachelors B 3S - Accounting** B 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B 3S - Management - HR Specialization B	ASB/ASBV ASB - OHIO ASTO ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA CS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 60 60 60 42 120 42 54 42 18 42 18 42 54 54 54 54 51	305.00 305.00 305.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	36.62 36.62 36.62 - 71.64 71.64 71.64 71.64 71.64 - 71.64 - 71.64 71.64	1,700.00 1,700.00 1,700.00 1,785.00 1,785.00 3,485.00 1,190.00 1,530.00 1,190.00 1,190.00 1,190.00 1,190.00	300.00 300.00 315.00 280.00 280.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 - 100.00		\$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2	20,436.62 20,436.62 20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Accounting OnlineAAS - BusinessAAS - Business - OHIOAAS - Technology OnlineAAS - Technology OnlineAAS - Professional PilotABachelorsB3S - Accounting**B3S - Aviation ManagementB3S - Business AdministrationB3S - Business Administration - HR SpecializationB3S - Cybersecurity - Cyber AnalystCCertificate - Cyber AnalystC3S - Information Technology - Information Technology ManagementB3S - HealthCare AdministrationB3S - ManagementB3S - Management - HR SpecializationB	ASB/ASBV ASB - OHIO ASTO ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA CS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 60 60 60 42 120 42 54 42 18 42 18 42 54 54 54 54 51	305.00 305.00 305.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	36.62 36.62 36.62 - 71.64 71.64 71.64 71.64 71.64 - 71.64 - 71.64 71.64	1,700.00 1,700.00 1,700.00 1,785.00 1,785.00 3,485.00 1,190.00 1,530.00 1,190.00 1,190.00 1,190.00 1,190.00	300.00 300.00 315.00 280.00 280.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 - 100.00		\$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2	20,436.62 20,436.62 20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Business A AS - Business - OHIO A AS - Technology Online A AS - Professional Pilot A Bachelors B 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B 3S - Management B	ASB/ASBV ASB - OHIO ASTO ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA CS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 60 60 60 42 120 42 54 42 18 42 18 42 54 54 54 54 51	305.00 305.00 305.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	36.62 36.62 36.62 - 71.64 71.64 71.64 71.64 71.64 - 71.64 - 71.64 71.64	1,700.00 1,700.00 1,700.00 1,785.00 1,785.00 3,485.00 1,190.00 1,530.00 1,190.00 1,190.00 1,190.00 1,190.00	300.00 300.00 315.00 280.00 280.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 - 100.00		\$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2	20,436.62 20,436.62 20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Business - OHIO A AS - Technology Online A AS - Professional Pilot A Bachelors B 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B	ASB - OHIO ASTO ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 60 60 42 120 42 54 42 18 42 42 54 54 54 51	305.00 305.00 305.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 18,300.00 \$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	36.62 36.62 - 71.64 71.64 71.64 71.64 71.64 - 71.64 - 71.64 71.64	1,700.00 1,700.00 1,785.00 1,190.00 3,485.00 1,190.00 1,530.00 1,190.00 1,190.00 1,190.00 1,190.00	300.00 300.00 315.00 280.00 280.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 100.00 100.00 - 100.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	20,436.62 20,436.62 20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Technology Online A AS - Professional Pilot A Bachelors B 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - HealthCare Administration B 3S - Management B 3S - Management B	ASTO ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 60 42 120 42 54 42 18 42 48 42 51	305.00 305.00 455.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	36.62 - 71.64 71.64 71.64 71.64 71.64 - 71.64 71.64	1,700.00 1,785.00 1,190.00 3,485.00 1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	300.00 315.00 280.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 100.00 - 100.00		\$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2	20,436.62 20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Professional Pilot A Bachelors 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management - HR Specialization B	ASPP BSA/O BSA/O BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	60 42 120 42 54 42 18 42 42 42 42 42 48 42 51	305.00 455.00 395.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00	\$ 18,300.00 \$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	- 71.64 71.64 71.64 71.64 71.64 - 71.64 71.64	1,785.00 1,190.00 3,485.00 1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	315.00 280.00 820.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 100.00 - 100.00		\$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2 \$ 2	20,500.00 20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
AS - Professional Pilot A Bachelors B 3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B	BSA/O BSA/O BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	42 120 42 54 42 18 42 18 42 42 42 42 48 42 51	455.00 395.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00	\$ 19,110.00 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	71.64 71.64 71.64 71.64 - 71.64 71.64	1,190.00 3,485.00 1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	280.00 820.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 - 100.00 - 100.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	20,751.64 51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
3S - Accounting** B 3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management - HR Specialization B	BSAV BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	120 42 54 42 18 42 42 42 42 48 42 51	395.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00	\$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	71.64 71.64 71.64 71.64 - 71.64 71.64	3,485.00 1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	820.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 - 100.00		\$ \$ \$ \$ \$ \$	51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management - HR Specialization B	BSAV BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	120 42 54 42 18 42 42 42 42 48 42 51	395.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00	\$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00	71.64 71.64 71.64 71.64 - 71.64 71.64	3,485.00 1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	820.00 280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 100.00 - 100.00		\$ \$ \$ \$ \$ \$	51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
3S - Aviation Management B 3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management - HR Specialization B	BSBA/BBAV/BBAO BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	42 54 42 18 42 42 42 42 48 42 51	395.00 455.00 455.00 455.00 395.00 455.00 455.00 455.00 455.00	 \$ 47,400.00 \$ 19,110.00 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00 	71.64 71.64 71.64 - 71.64 71.64	1,190.00 1,530.00 1,190.00 510.00 1,190.00 1,190.00	280.00 360.00 280.00 120.00 280.00	100.00 100.00 100.00 - 100.00		\$ \$ \$ \$ \$ \$	51,876.64 20,751.64 26,631.64 20,751.64 7,740.00
3S - Business Administration B 3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B	BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	54 42 18 42 42 42 48 42 51	455.00 455.00 395.00 455.00 455.00 455.00 455.00	 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00 	71.64 71.64 - 71.64 71.64	1,530.00 1,190.00 510.00 1,190.00 1,190.00	360.00 280.00 120.00 280.00	100.00 100.00 - 100.00		\$ \$ \$ \$	20,751.64 26,631.64 20,751.64 7,740.00
3S - Business Administration - HR Specialization B 3S - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B 3S - Management B	BSBA/O-HR BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	42 18 42 42 42 48 48 42 51	455.00 455.00 395.00 455.00 455.00 455.00 455.00	 \$ 24,570.00 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00 	71.64 71.64 - 71.64 71.64	1,530.00 1,190.00 510.00 1,190.00 1,190.00	360.00 280.00 120.00 280.00	100.00 100.00 - 100.00		\$ 2 \$ 2 \$	26,631.64 20,751.64 7,740.00
BS - Cybersecurity - Cyber Analyst B Certificate - Cyber Analyst C BS - Information Technology - Information Technology Management B BS - Information Technology - Web Development B BS - HealthCare Administration B BS - Management B	BSCS.CA CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM/O-HR BSM.CBE BMKO (MA)	18 42 42 48 48 42 51	455.00 395.00 455.00 455.00 455.00 455.00	 \$ 19,110.00 \$ 7,110.00 \$ 19,110.00 \$ 19,110.00 \$ 21,840.00 	71.64 - 71.64 71.64	1,190.00 510.00 1,190.00 1,190.00	280.00 120.00 280.00	100.00 - 100.00		\$ 2 \$	20,751.64 7,740.00
Certificate - Cyber Analyst C 3S - Information Technology - Information Technology Management B 3S - Information Technology - Web Development B 3S - HealthCare Administration B 3S - Management B 3S - Management B 3S - Management B 3S - Management B 3S - Management - HR Specialization B	CS.CA BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	18 42 42 48 48 42 51	395.00 455.00 455.00 455.00 455.00	 7,110.00 19,110.00 19,110.00 21,840.00 	- 71.64 71.64	510.00 1,190.00 1,190.00	120.00 280.00	- 100.00		\$	7,740.00
BS - Information Technology - Information Technology ManagementBBS - Information Technology - Web DevelopmentBBS - HealthCare AdministrationBBS - ManagementBBS - Management - HR SpecializationB	BSIT BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	42 42 48 42 51	455.00 455.00 455.00 455.00	\$ 19,110.00 \$ 19,110.00 \$ 21,840.00	71.64	1,190.00 1,190.00	280.00				
BS - Information Technology - Web DevelopmentBBS - HealthCare AdministrationBBS - ManagementBBS - Management - HR SpecializationB	BSIT.WEB BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	42 48 42 51	455.00 455.00 455.00	<pre>\$ 19,110.00 \$ 21,840.00</pre>	71.64	1,190.00					_U.IUI.UT
BS - HealthCare AdministrationB3S - ManagementB3S - Management - HR SpecializationB	BHSC BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	48 42 51	455.00 455.00	\$ 21,840.00)				22,641.64
BS - ManagementB3S - Management - HR SpecializationB	BSM/O BSMV BSM/O-HR BSM.CBE BMKO (MA)	42 51	455.00			1,300.00	320.00	100.00			23,691.64
3S - Management - HR Specialization B	BSM/O-HR BSM.CBE BMKO (MA)	51			71.64	1,190.00	280.00	100.00			20,751.64
	BSM.CBE BMKO (MA)			\$ 23,205.00	71.64	1,445.00	340.00	100.00			25,161.64
	BMKO (MA)			\$ 2,500.00		.,		100.00			2,600.00
	()	48	455.00	\$ 21,840.00	71.64	1,360.00	320.00	100.00			23,691.64
0 ,	BMKO (DA)	48	455.00	\$ 21,840.00	71.64	1,360.00	320.00	100.00			23,691.64
	BMKO (SNP)	48		\$ 21,840.00	71.64	1,360.00	320.00	100.00			23,691.64
	BMKO (SM)	48	455.00	\$ 21,840.00	71.64	1,360.00	320.00	100.00			23,691.64
Masters		10	100.00	φ 21,010.00	71.01	1,000.00	020.00	100.00		<u> </u>	20,001101
	MSAO	36	559.00	\$ 20,124.00	480.89	1,020.00	300.00	100.00		\$:	22,024.89
	MSA.FA	36	559.00	\$ 20,124.00	480.89	1,020.00	300.00	100.00			22,024.89
	MSA.MA	36	559.00	\$ 20,124.00	480.89	1,020.00	300.00	100.00			22,024.89
v v	MSA.PA	36	559.00	\$ 20,124.00	480.89	1,020.00	300.00	100.00			22,024.89
<u> </u>	AMBA/MBA Select	24	455.00	\$ 10,920.00	35.82	680.00	200.00	-			11,835.82
	MBAPM.MSMIT	60		\$ 28,800.00	514.57	1,700.00	600.00	100.00			31,714.57
	MBA/O/Y	36		\$ 20,124.00	519.44	1,020.00	300.00	100.00		<u> </u>	22,063.44
	MBAPM	42		\$ 23,478.00	519.44	1,190.00	350.00	100.00			25,637.44
	MBAPM.MSMIT	42		\$ 23,478.00	478.75		350.00	100.00			25,596.75
8/ 0	MBH/O	42		\$ 23,478.00	478.75	1,190.00	350.00	100.00			25,596.75
	ASM	24		\$ 10,920.00	35.82	680.00	200.00	-			11,835.82
	MSM.POC	30		\$ 14,400.00	478.55	850.00	250.00	100.00			16,078.55
	MSM.IT	30		\$ 14,400.00	478.55	850.00	250.00	100.00			16,078.55
	MHR/O	36		\$ 20,124.00	478.75	1,020.00	300.00	100.00			22,022.75
	MBSA	42	333.00	\$ 20,580.00	478.75	1,190.00	350.00	100.00	490.00		23,188.75
MBA Courses	NDOA	24	490.00	\$ 11,760.00	470.75	680.00	100.00	100.00	430.00	ψ	23,100.73
PLP Courses		18		\$ 8,820.00		510.00	250.00	100.00	490.00		
	MBSA	42	490.00	\$ 20,580.00	478.75	1,190.00	350.00	100.00		¢ 4	23,188.75
MBA Courses	NDSA	24	400.00	\$ 11,760.00	470.75	680.00	100.00	100.00	490.00	ψι	23,100.75
PLP Courses		18		\$ 8,820.00		510.00	150.00	100.00	490.00		
PLP Courses		10	490.00	Ф 0,020.00		510.00	150.00	-	490.00		
**\$200 x 2 School Leader Demonstration Fee for PLP portion of MBA Sch	hool Admin, EDL-657 - \$15 for L	Data Manag	gement Fee (with all EDL cou	ırses)						
	DBA.ACC	60		\$ 36,420.00	ć	2,125.00	625.00	100.00	1,280.00	\$ 4	40,550.00
	DBAAC	30		\$ 18,210.00		1,360.00	400.00	100.00			21,270.00
	DBA.HCA	60		\$ 36,420.00		2,125.00	625.00	100.00			40,550.00
	DBA.INSY	60		\$ 36,420.00		2,125.00	625.00	100.00			40,550.00
	DBA.MGT	60	607.00	\$ 36,420.00		2,125.00	625.00	100.00			40,470.00
**\$400.00 for Residency Fee x 3, BADM706, BADM710, HCAD790 \$40.0				,		, , , , , , , , , , , , , , , , , , , ,			,		,

Program	Acronym	Credit	Cost per	Tuition	Embedded	Tech	ERF	Grad	Additional	Total
		Hours	Cr Hr		Resources	Fee		Fee	Fees	Cost
School of Service & Leadership										
Associates										
AS - Criminal Justice	ASJ	60	305.00	\$ 18,300.00	-	1,700.00	300.00	100.00		\$ 20,400.00
AS - Ministries	ASM/O	60	305.00	\$ 18,300.00	-	1,700.00	300.00	100.00		\$ 20,400.00
AS Ministries \$80 Non-Wesleyan Pastor Discount	ASM/O	60		\$ 13,500.00	-	1,700.00	300.00	100.00		\$ 15,600.00
AS Ministries \$135 Wesleyan Pastor Discount	ASM/O	60	170.00	\$ 10,200.00	-	1,700.00	300.00	100.00		\$ 12,300.00
AS Ministries \$110 Participating Discount	ASM/O	60	195.00	\$ 11,700.00	-	1,700.00	300.00	100.00		\$ 13,800.00
AS - Christian Ministry Leadership	ASML	57	305.00	\$ 17,385.00	-	1,615.00	285.00	100.00		\$ 19,385.00
AS - Public Service and Management	ASPSM	60	250.00	\$ 15,000.00	-	-	-	100.00		\$ 15,100.00
AS - Human Services	ASHS	60	305.00	\$ 18,300.00	-	1,700.00	300.00	100.00		\$ 20,400.00
Bachelors										
BS - Addictions Counseling Online	BACO	45	395.00	\$ 17,775.00	-	1,360.00	320.00	100.00		\$ 19,555.00
BS - Biblical Studies	BSB & BSBO	42	395.00	\$ 16,590.00	-	1,190.00	280.00	100.00		\$ 18,160.00
BS Biblical Studies \$110 Non-Wesleyan Pastor Discount	BSB & BSBO	42	285.00	\$ 11,970.00	-	1,190.00	280.00	100.00		\$ 13,540.00
BS Biblical Studies \$180 Wesleyan Pastor Discount	BSB & BSBO	42	215.00	\$ 9,030.00	-	1,190.00	280.00	100.00		\$ 10,600.00
BS Biblical Studies \$145 Participating Discount	BSB & BSBO	42	250.00	\$ 10,500.00	-	1,190.00	280.00	100.00		\$ 12,070.00
BS - Christian Ministry Leadership (Full)	BSML	48	395.00	\$ 18,960.00	-	1,360.00	320.00	100.00		\$ 20,740.00
BS - Criminal Justice	BSJ & BSJO	45	395.00	\$ 17,775.00	-	1,275.00	300.00	100.00		\$ 19,450.00
BS - Human Service	BSHS	45		\$ 17,775.00	-	1,275.00	300.00	100.00		\$ 19,450.00
BS - Social Work	BSW & BSWO	64	430.00	\$ 27,520.00	-	1,615.00	380.00	100.00		\$ 29,615.00
BS - Psychology Human Relations	BSPO	40	395.00	\$ 15,800.00	-	1,105.00	260.00	100.00		\$ 17,265.00
Masters										
MA - Organizational Leadership	MAOL/MOLO	30	490.00	\$ 14,700.00	-	850.00	250.00	100.00		\$ 15,900.00
MA - Psychology	MPSY	30		\$ 14,700.00		850.00	250.00	100.00		\$ 15,900.00
MA - Sports Leadership	MAOSL	30		\$ 14,700.00		850.00	250.00	100.00		\$ 15,900.00
MSW - Standard Track	MSW	60	559.00	\$ 33,540.00	208.65	1,700.00	500.00	100.00		\$ 36,048.65
MSW - Advanced Track	MSW Adv	30	559.00	\$ 16,770.00	208.65	850.00	250.00	100.00		\$ 18,178.65
Doctorate										
PhD Organizational Leadership **	PhDOL	60	890.00	\$ 53,400.00	-	2,040.00	840.00	100.00	1,650.00	\$ 58,030.00
**Additional Fee Includes: Summer Institute Fee 3 Residency @ \$	550 - For Room & Board									

Program	Acronym	Credit	Cost per	ΙT	Fuition	Embedded	Tech	ERF	Grad	Additional		Total
		Hours	Cr Hr			Resources	Fee		Fee	Fees		Cost
School of Educational Leadership **												
Associates												
AS - Early Childhood Education	ASE/O	60	305.00	\$ 1	18,300.00	-	1,700.00	300.00	100.00	185.00	\$	20,585.00
\$15 Data Management Fee (all education core courses) \$20 Uniform Fee				Ţ			.,				Ŧ	
Bachelors												
BS - Early Childhood Education	BSE/O	51	395.00	\$ 2	20,145.00	-	1,190.00	280.00	100.00	755.00	\$	22,470.00
\$15 Data Management Fee (all education core courses) \$20 Uniform Fee		-			,	2	1,100100	200.00	100100	100100	Ψ	
Early Childhood Teacher Training Undergraduate Certificate		21	395.00		8,295.00	-	595.00	280.00	100.00	105.00	\$	9,375.00
Masters		21	000.00	Ψ	0,233.00		000.00	200.00	100.00	100.00	Ψ	3,373.00
MS - Curriculum, Assessment, and Instruction	MS.CURINS	33	480.00	¢ 1	15,840.00		935.00	275.00	100.00	240.00	¢	17,390.00
\$15 Data Management Fee (all education core courses) \$75 Supervision		- 33	400.00	φ	15,640.00	-	935.00	275.00	100.00	240.00	φ	17,390.00
	MS.ECE	32	400.00		15 260 00		025.00	275.00	100.00	215.00	¢	10.005.00
MS - Early Childhood Education		-			15,360.00	-	935.00	275.00	100.00	315.00	Ф	16,985.00
\$15 Data Management Fee (all education core courses) \$75 Supervision							540.00	450.00	400.00	405.00	^	0.505.00
MS - Early Childhood Teaching	MS.ECT	18	480.00	\$	8,640.00	-	510.00	150.00	100.00	165.00	\$	9,565.00
\$15 Data Management Fee (all education core courses) \$75 Supervision			100.00		47.000.00		4 000 00	000.00	400.00	100.00	^	40.000.00
MS - Christian School Education (Spanish)	MS.CSE.SP	36	480.00	\$ 1	17,280.00	-	1,020.00	300.00	100.00	180.00	\$	18,880.00
\$15 Data Management Fee (all education core courses)		1									*	
MS - Elementary Teaching	MS.ELET	18	480.00	\$	8,640.00	-	510.00	150.00	100.00	165.00	\$	9,565.00
\$15 Data Management Fee (all education core courses)				_	-							
MS - English as a New Language	MS.ENGNL	30	480.00	\$ 1	14,400.00	-	850.00	150.00	100.00	325.00	\$	15,825.00
\$15 Data Management Fee (every course); EDUC-530-\$75 Supervision I												
MS - Special Education	MS.SPECED	33			15,840.00	-	935.00	275.00	100.00	490.00	\$	17,640.00
\$15 Data Management Fee (all education core courses) \$75 Supervision	Technology Fee EDSE520; \$250 Clin	nical Expe	erience Fee I	EDUC	C630							
MS - School Administration	MS.SA.IN	33	480.00	\$ 1	15,840.00	-	935.00	275.00	100.00	640.00	\$	17,790.00
\$15 Data Management Fee (all education core courses) \$200 Clinical Ex	perience Fee EDL612; \$200 Clinical	Experienc	e Fee EDL6	25; \$7	75 Supervis	sion Technology	Fee EDUC5	30		•		
MS - Secondary Teaching	MS.SECT	18	480.00	\$	8,640.00	-	510.00	150.00	100.00	165.00	\$	9,565.00
\$15 Data Management Fee (all education core courses); \$75 Supervisior	Technology Fee EDUC530				•							
MS - Biology in Education	MS.BIOE	33	480.00	\$ 1	15,840.00	-	935.00	275.00	100.00	240.00	\$	17,390.00
\$15 Data Management Fee (all education core courses); \$75 Supervisior	Technology Fee EDUC530											
MS - Christian School Education	MS.CSE	36	480.00	\$ 1	17,280.00	-	1,020.00	300.00	100.00	255.00	\$	18,955.00
\$15 Data Management Fee (all education core courses); \$75 Supervisior				Ţ	,		.,				Ŧ	
MS - Physics in Education	MS.PHYE	33	480.00	\$ 1	15,840.00	-	935.00	275.00	100.00	240.00	\$	17,390.00
\$15 Data Management Fee (all education core courses); \$75 Supervision		00	100100	<u> </u>			000100	210100	100100	210100	Ŷ	,000.00
MS - Online Teaching and Learning	MS.OTL	30	480.00	\$ 1	14,400.00	-	850.00	250.00	100.00	225.00	\$	15,825.00
\$15 Data Management Fee (all education core courses); \$75 Supervision		00	400.00	Ψ	14,400.00		000.00	200.00	100.00	220.00	Ψ	10,020.00
MS - Technology/Digital Literacy in Education	MS.TDLE	33	480.00	¢ 1	15,840.00	-	935.00	275.00	100.00	340.00	\$	17,490.00
\$15 Data Management Fee (all education core courses); \$75 Supervision		- 55	400.00	Ψ	13,040.00		333.00	275.00	100.00	540.00	Ψ	17,430.00
TTT - Transititon To Teaching Secondary	TTT.SEC	18	480.00	¢	8,640.00		595.00	150.00		655.00	¢	10,040.00
					,	-	595.00	150.00	-	055.00	φ	10,040.00
\$15 Data Management Fee (all education core courses); \$75 Supervision							<u> </u>	200.00		C 4 5 00	¢	10.045.00
TTT - Transititon To Teaching Elementary	TTTE.ELE	24			11,520.00	-	680.00	200.00	-	645.00	\$	13,045.00
\$15 Data Management Fee (all education core courses); \$75 Supervision										0.45.00	^	10.015.00
TTT - Transititon To Teaching Early Childhood Education	TTT.ECE.IN	24			11,520.00	-	680.00	200.00	-	645.00	\$	13,045.00
\$15 Data Management Fee (all education core courses); \$75 Supervision											•	
TTT - Transititon To Teaching Special Education	TTT.SEC	21			10,080.00	-	595.00	175.00	-	705.00	\$	11,555.00
EDUT-563-\$15 Data Management Fee for each course; EDSE-525 - \$75				-		, \$75 Supervisio		·				
Ed.S. Educational Technology and Learning Engineering	EDS.TLE	30	559.00	\$ 1	16,770.00		850.00	250.00	100.00	150.00	\$	18,120.00
\$15 Data Management Fee (all education core courses)												10 10 00
EDS - Ed.S in Educational Leadership	EDS	30	559.00	\$ 1	16,770.00	-	850.00	250.00	100.00	150.00	\$	18,120.00
	EDS	30	559.00	\$ 1	16,770.00	-	850.00	250.00	100.00	150.00	\$	18,120.00
EDS - Ed.S in Educational Leadership	EDS	30	559.00	\$ 1	16,770.00	-	850.00	250.00	100.00	150.00	\$	18,120.00
EDS - Ed.S in Educational Leadership	EDS	30	559.00	\$ 1	16,770.00	-	850.00	250.00	100.00	150.00	\$	18,120.00
EDS - Ed.S in Educational Leadership \$15 Data Management Fee (all education core courses)	EDS EDD	30			16,770.00	-	850.00 850.00	250.00 350.00	100.00			18,120.00

HoursCr HrResourcesFee<	Program	Acronym	Credit	Cost per	Tuition	Embedded	Tech	ERF	Grad	Additional	Total
Pristan of Liberal Acts Image: Control Image: Control <thimage: contro<="" th=""> Image: Control <thi< th=""><th></th><th></th><th></th><th></th><th></th><th>Resources</th><th>Fee</th><th></th><th>Fee</th><th></th><th>Cost</th></thi<></thimage:>						Resources	Fee		Fee		Cost
Electives SS5.00 TBD TBD TBD Electives Outrine SS5.00 TBD TBD TBD TBD Several Bucket SS6.00 TBD TBD TBD TBD As Construe Digit Media ASCDM 42 305.00 T12011.00 1.275.00 100.00 S 4.3 Bachelors Bachelors Bachelors Structure St											
Electives SS5.00 TBD TBD TBD Electives Outrine SS5.00 TBD TBD TBD TBD Several Bucket SS6.00 TBD TBD TBD TBD As Construe Digit Media ASCDM 42 305.00 T12011.00 1.275.00 100.00 S 4.3 Bachelors Bachelors Bachelors Structure St	Division of Liberal Arts										
Electives 385.00 TBD TBD TBD TBD Associaties Associaties </td <td></td>											
Electives Coline 395.00 TBD TBD TBD TBD Associates Associates Associates TBD	Electives			395.00		TBD	TBD				
General Studies Bit Studies TBD TBD TBD TBD AS - Creative Dighal Media ASCOM 42 306.0 \$ 12,810.00 1,276.00 150.00 100.00 \$ 14,8 Bachelore BS - Control Lifeton BS - Control Lifeton 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00 1,300.00 5,31.5 Master Master 19 455.00 18.01.65.00 18.01.00 100.00 5,31.4 Grad 19 455.00 18.04.65.00 18.24.50.00 18.04.50 10.00 650.00 19.00.00 500.00 100.00 650.00 38.76 1,700.00 500.00 100.00 90.00 38.76 1,700.00 500.00 100.00 90.00 38.76 1,700.00 500.00 100.00 90.00 38.76 1,700.00 500.00						TBD	TBD				
AS - Creative Digital Media ASCUM 42 200.00 1.270.00 150.00 100.00 \$ 14; Bachators B S S 1.280.00 1.280.00 32.00 100.00 \$ 100.00 \$ 19; Bachator B S S 1.280.00 38.70 180.00											
Bachelors BSCOMM 44 395.00 \$17,38.00 1.360.00 20.00 \$10.	Associates										
Bachelors BSCOMM 44 395.00 \$17.380.00 3.30.00 20.00 10.00 \$19.50 School of Mursing BSCOMM 44 395.00 \$17.380.00 1.300.00 20.00 \$10.00 <t< td=""><td>AS - Creative Digital Media</td><td>ASCDM</td><td>42</td><td>305.00</td><td>\$ 12,810.00</td><td></td><td>1,275.00</td><td>150.00</td><td>100.00</td><td></td><td>\$ 14,335.00</td></t<>	AS - Creative Digital Media	ASCDM	42	305.00	\$ 12,810.00		1,275.00	150.00	100.00		\$ 14,335.00
School Nursing. Next Status Next Status					. ,						· ·
School Nursing Backetors NISS 31 455.00 \$ 14,105.00 38,79 765.00 100.00 \$ 15,75 RNBS N RAA Comparing Sale Action	BS - Communication	BSCOMM	44	395.00	\$ 17,380.00		1,360.00	320.00	100.00		\$ 19,160.00
Bachelors NRIS NIRS	School of Nursing										· ·
RNES 31 465.00 \$14,05.00 38.70 765.00 100.00 \$10.00											
Masters NRA.AMSN.MSA 68 5.31,850.00 38.79 1,700.00 500.00 19.34,4 Undergrad 19 455.00 \$.84,450.00 38.79 1,700.00 500.00 100.00 650.00 \$.34,4 Undergrad 19 455.00 \$.23,260.00 1		RNBS	31	455.00	\$ 14,105,00	38,79	765.00	180.00	100.00		\$ 15,188.79
ASN.MSN.NRAO NRA.AMSN.MSA 58 \$ 31,800.00 38.79 1,700.00 500.00 100.00 6650.00 \$ 34,4 Grad 39 595.00 \$ 8,845.00 \$ 8,845.00 \$ 74,000 500.00 100.00 660.00 \$ 34,4 Grad 39 595.00 \$ 23,205.00 \$ 23,205.00 \$ 74,000 500.00 100.00 90.00 \$ 36,7 YMMSN Fees-S90 for Medatrax Fee, \$110 Portfolio Fee, \$340 STTI NAC, \$110 Portfolio Fee 19 455.00 \$ 8,645.00 510.00 1.00.00 \$. -					· · · · · · · ·						+ -,
Undergrad 19 455:00 8.645:00 1 Grad 39 995:00 \$ 23,205:00 - - *MMSNA Fees-\$90 for Medatrax Fee, S110 Portfolio Fee, \$340 STTI NAC, \$110 Portfolio Fee 60 \$ 33,040:00 \$ 87,00 500:00 100:00 90:00 \$ 35,00 ASN.MSN NREO NREAMSN.MS 60 \$ 33,040:00 \$ 87,00 500:00 100:00 90:00 \$ 35,00 Grad 19 455:00 \$ 24,395:00 1,190:00 - - - *MSNE Fees-Medatrax \$90 11 995:00 \$ 24,395:00 - 1,190:00 - - *MS- Fees-Medatrax \$90 11 90:00 - - - - MS - Post Master's Certificate (PMC-NRA) PMC-NRA 20 895:00 \$ 24,395:00 - 1,190:00 90:00 \$ 12,0 MS - Narsing Education Online NREO 41 595:00 \$ 24,395:00 - 1,190:00 90:00 \$ 10,0 MS - Certificate (PMC-NRE) PMC-NRA 20		NRA AMSN MSA	58		\$ 31,850,00	38 79	1 700 00	500.00	100.00	650.00	\$ 34 838 79
Grad 39 \$95.00 \$ 2.3205.00 'AMSNA Ress-\$90 for Mediatrax Fee, \$110 Portfolio Fee, \$340 STTI NAC, \$110 Portfolio Fee ASN-MSN REC NRE.AMSN MS 60 \$ 33,040 00 38.79 1,700 00 500.00 100.00 90.00 \$ 35. Undergrad 19 455.00 \$ 24,395.00 1,190.00 - - - 'MMSNA Fees-Modatrax \$30 11 950.00 \$ 24,395.00 1,190.00 350.00 100.00 650.00 \$ 2.5 'NRAO Fees-Modatrax \$30 NRAO 39 595.00 \$ 24,395.00 - 1,190.00 350.00 100.00 650.00 \$ 2.5 'NRAO Fees-Modatrax \$30 NRAO 39 595.00 \$ 11,90.00 - 510.00 150.00 90.00 \$ 12.1 'WREO Fees-Medatrax \$30 NREO 41 595.00 \$ 11,90.00 - 510.00 150.00 90.00 \$ 2.6 'WREO Fees-Medatrax \$30 NREO 41 595.00				455.00	. ,	00.10	1,700.00	000.00	100.00	000.00	φ 04,000.75
**MSNA Fees-\$90 for Medatrax Fee, \$110 Portfolio Fee, \$340 STTI NAC, \$110 Portfolio Fee 5.33,040,00 38.79 1.700,00 500,00 100,00 90,00 \$3.70 ASN_MEN NECO NREAMSN.MS 60 5.33,040,00 38.79 1.700,00 500,00 \$3.70 Grad 19 455,00 \$2,4395,00 1,190,00 - - - *AMSNE Fees- Medatrax \$90 41 596,00 \$2,23,205,00 - 1,190,00 500,00 \$20,00 *NRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax, NRA-671 \$340 STTI NAC Fee, NRA-673 \$110 Portfolio Fee - - - MS - Post Master's Conflicate (PMC-NRA) 20 \$95,00 \$11,900,00 - 510,00 150,00 90,00 \$2,2 YMEO Fees-Medatrax \$90 - 11 595,00 \$2,395,00 - 1,190,00 360,00 100,00 90,00 \$2,2 'NREO Fees-Medatrax \$90 - 11 595,00 \$2,395,00 - 1,190,00 360,00 100,00 90,00 \$10,2 'NREO Fees-Medatrax \$90 - 16 595,00 \$3,565,00 - 1,190,00 <td< td=""><td></td><td></td><td></td><td></td><td>. ,</td><td></td><td></td><td></td><td></td><td></td><td></td></td<>					. ,						
Ash.MSN NREO NRE AMSN.MS 60 \$ 33,040.00 38.79 1.700.00 500.00 \$ 35,74 Undergrad 19 455.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 6,646.00 \$ 5,040.00 \$ 6,646.00		L AC \$110 Portfolio Fee	- 53	333.00	ψ 23,203.00						
Undergrad 19 455.00 \$ 8.646.00 510.00 - - - 'AMSNE Fees- Medatrax \$90 11 595.00 \$ 24.395.00 1,190.00 360.00 100.00 660.00 \$ 26.49 'MS. Nursing Administration Online NRAO 39 595.00 \$ 23.205.00 - 1,190.00 350.00 100.00 660.00 \$ 26.4 'NRAO Fees-GNUR 530 \$110 Portfolio Fee NRAO 39 595.00 \$ 11,90.00 350.00 100.00 660.00 \$ 26.4 'NRAO Fees-GNUR 530 \$110 Portfolio Fee PMC-NRA 20 595.00 \$ 11,90.00 - 510.00 150.00 90.00 \$ 12.4 'PMCA (NRAO Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,90.00 350.00 100.00 90.00 \$ 26.7 'NREO Fees- Madatrax \$90 MS - Outside terms \$300 PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 150.00 \$ 26.7 'PMCE (NREO Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 </td <td></td>											
Undergrad 19 455.00 \$ 8.646.00 510.00 - - - 'AMSNE Fees- Medatrax \$90 11 595.00 \$ 24.395.00 1,190.00 360.00 100.00 660.00 \$ 26.49 'MS. Nursing Administration Online NRAO 39 595.00 \$ 23.205.00 - 1,190.00 350.00 100.00 660.00 \$ 26.4 'NRAO Fees-GNUR 530 \$110 Portfolio Fee NRAO 39 595.00 \$ 11,90.00 350.00 100.00 660.00 \$ 26.4 'NRAO Fees-GNUR 530 \$110 Portfolio Fee PMC-NRA 20 595.00 \$ 11,90.00 - 510.00 150.00 90.00 \$ 12.4 'PMCA (NRAO Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,90.00 350.00 100.00 90.00 \$ 26.7 'NREO Fees- Madatrax \$90 MS - Outside terms \$300 PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 150.00 \$ 26.7 'PMCE (NREO Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 </td <td></td> <td></td> <td>60</td> <td></td> <td>¢ 22.040.00</td> <td>29.70</td> <td>1 700 00</td> <td>500.00</td> <td>100.00</td> <td>00.00</td> <td>¢ 25 /69 70</td>			60		¢ 22.040.00	29.70	1 700 00	500.00	100.00	00.00	¢ 25 /69 70
Grad 41 595.00 \$ 24,395.00 1,190.00 . . . YMSNE Fees-Medatrax \$90 NRAO 39 595.00 \$ 23,205.00 1,190.00 . . . MS - Nursing Administration Online NRAO 39 595.00 \$ 23,205.00 . 1,190.00 . . . MS - Nursing Administration Online NRAO 39 595.00 \$ 23,205.00 . 1,190.00 . . . MS - Nursing Education Online PMC-NRA 20 595.00 \$ 11,90.00 . 1,190.00 MS - Nursing Education Online NREO 41 595.00 \$ 24,395.00 . 1,190.00 .		INRE.AWISIN.WIS		455.00		30.79		500.00	100.00	90.00	ъ 30,400.79
*MRNE Fees Medatrax \$90 NRAO 39 595.00 \$ 23,205.00 - 1,190.00 350.00 100.00 650.00 \$ 25,400 MS - Nursing Administration Online NRAO Fees GRUIN Sub-\$110 Portfolio Fee - 1,190.00 350.00 100.00 650.00 \$ 25,400 MS - Post Master's Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,900.00 - 510.00 150.00 90.00 \$ 12,100 "PMCA (NRAO Certificate) Fees- Medatrax \$90 - 1,190.00 - 1,190.00 350.00 100.00 90.00 \$ 26,100 "NREO Fees- Medatrax \$90 - 1,190.00 350.00 100.00 90.00 \$ 26,100 "NREO Fees- Medatrax \$90 - 16 595.00 \$ 9,52.000 - 510.00 150.00 - 90.00 \$ 10,100 "WC-REC Certificate) Fees- S90 Medatrax PMC-NRE 16 595.00 \$ 3,565.00 - 1,105.00 325.00 10.00 190.00 \$ 10,20 "PVCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for			1					-	-	-	
Nursing Administration Online NRAO 39 595.00 \$ 23,205.00 - 1,190.00 650.00 \$ 25,7 'NRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax, NRA-671 \$340 STTI NAC Fee, NRA-673 \$110 Portfolio Fee - - - 510.00 150.00 90.00 \$ 25,7 'NRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax, NRA-671 \$340 STTI NAC Fee, NRA-673 \$110 Portfolio Fee - - 510.00 150.00 90.00 \$ 12,0 'PMCA (NRAO Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 24,395.00 - 1,190.00 350.00 100.00 90.00 \$ 26,0 'NREO Fees- Medatrax \$90 -			41	595.00	\$ 24,395.00		1,190.00	-	-	-	
TNRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax, NRA-671 \$340 STTI NAC Fee, NRA-673 \$110 Portfolio Fee M MS - Post Master's Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,900.00 - 510.00 150.00 90.00 \$ 12,0 'PMCA (NRAO Certificate) Fees- Medatrax \$90 - 510.00 150.00 90.00 \$ 12,0 'PMCA (NRAO Certificate) Fees- Medatrax \$90 - 510.00 150.00 90.00 \$ 12,0 'NREO Fees- Medatrax \$90 - 1,190.00 350.00 100.00 90.00 \$ 26,0 'NREO Fees- Medatrax \$90 - 16 595.00 \$ 9,520.00 - 510.00 150.00 - 90.00 \$ 10,0 'NREO Fees- Stoto Cortificate) Fees- \$90 Medatrax PMC-NRE 16 595.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 'PVCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 - - - - - - - - - - - -	AMSINE Fees- Medatrax \$90										
TNRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax, NRA-671 \$340 STTI NAC Fee, NRA-673 \$110 Portfolio Fee M MS - Post Master's Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,900.00 - 510.00 150.00 90.00 \$ 12,0 'PMCA (NRAO Certificate) Fees- Medatrax \$90 - 510.00 150.00 90.00 \$ 12,0 'PMCA (NRAO Certificate) Fees- Medatrax \$90 - 510.00 150.00 90.00 \$ 12,0 'NREO Fees- Medatrax \$90 - 1,190.00 350.00 100.00 90.00 \$ 26,0 'NREO Fees- Medatrax \$90 - 16 595.00 \$ 9,520.00 - 510.00 150.00 - 90.00 \$ 10,0 'NREO Fees- Stoto Cortificate) Fees- \$90 Medatrax PMC-NRE 16 595.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 'PVCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 - - - - - - - - - - - -	MO Numeiro Administration Option		00	505.00	¢ 00.005.00		1 100 00	250.00	400.00	050.00	¢ 05 405 00
MS Post Master's Certificate (PMC-NRA) PMC-NRA 20 595.00 \$ 11,900.00 - 510.00 150.00 90.00 \$ 12,1 'PMCA (NRAO Certificate) Fees- Medatrax \$90 Image: Control of the set of t	<u> </u>				. ,	-	1,190.00	350.00	100.00	650.00	\$ 25,495.00
*PMCA (NRAO Certificate) Fees- Medatrax \$90 NREO 41 595.00 \$ 24,395.00 1,190.00 350.00 100.00 90.00 \$ 26,7 *NREO Fees- Medatrax \$90 1 100.00 90.00 \$ 26,7 NREO Fees- Medatrax \$90 10.00 90.00 \$ 26,7 *NREO Fees- Medatrax \$90 1 16 595.00 \$ 9,520.00 510.00 150.00 90.00 \$ 10,7 MS - Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 510.00 150.00 \$ 90.00 \$ 10,7 *PMCE (IRREO Certificate) Fees- \$90 Medatrax PMC-NRE 16 595.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,1 *PVCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -	^NRAO Fees-GNUR 530-\$110 Portfolio Fee NRA-513, \$90 Medatrax,	NRA-671 \$340 STITNAC Fee, NRA	-673 \$11		ee						
**PMCA (NRAO Certificate) Fees- Medatrax \$90 NREO 41 595.00 \$ 24,395.00 1,190.00 350.00 100.00 90.00 \$ 26,7 *NREO Fees- Medatrax \$90 1 100.00 90.00 \$ 26,7 NREO Fees- Medatrax \$90 10.00 90.00 \$ 26,7 *NREO Fees- Medatrax \$90 1 16 595.00 \$ 9,520.00 510.00 150.00 90.00 \$ 10,7 MS - Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 \$ 10,7 *PMCE (IRREO Certificate) Fees- \$90 Medatrax PMC-NRE 16 595.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,1 *PVCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -			00	505.00			540.00	450.00		00.00	^ 40.050.00
MS - Nursing Education Online NREO 41 595.00 \$ 24,395.00 - 1,190.00 350.00 100.00 90.00 \$ 26,7 'NREO Fees- Medatrax \$90 -		PMC-NRA	20	595.00	\$ 11,900.00	-	510.00	150.00		90.00	\$ 12,650.00
**NREO Fees- Medatrax \$90 MS - Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 90.00 \$ 10,7 *PMCE (NREO Certificate) Fees- \$90 Medatrax PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 *PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -	^PMCA (NRAU Certificate) Fees- Medatrax \$90										
**NREO Fees- Medatrax \$90 MS - Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 90.00 \$ 10,7 *PMCE (NREO Certificate) Fees- \$90 Medatrax PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 *PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -	MC Numing Education Online	NDEO	44	505.00	¢ 04.005.00		1 100 00	250.00	400.00	00.00	¢ 00 405 00
MS - Certificate (PMC-NRE) PMC-NRE 16 595.00 \$ 9,520.00 - 510.00 150.00 2 90.00 \$ 10,2 *PMCE (NREO Certificate) Fees- \$90 Medatrax PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 *PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -		INREO	41	595.00	\$ 24,395.00	-	1,190.00	350.00	100.00	90.00	\$ 26,125.00
*PMCE (NREO Certificate) Fees- \$90 Medatrax PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,1 *PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -	"NREU Fees- Medatrax \$90										
*PMCE (NREO Certificate) Fees- \$90 Medatrax PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,1 *PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -		DMG NDE	40	505.00	<u>Ф</u> О <u>ГОО</u> ОО		540.00	450.00		00.00	<u> </u>
MS - Nursing Primary Care Family PYCF 49 685.00 \$ 33,565.00 - 1,105.00 325.00 100.00 1,945.00 \$ 37,0 "PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80 -		PMC-NRE	16	595.00	\$ 9,520.00	-	510.00	150.00	-	90.00	\$ 10,270.00
*PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80	[^] PMCE (NREO Certificate) Fees- \$90 Medatrax										
*PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Test Fee, \$130 lab fee, \$105 Lexicomp, Predictor Test \$80	MO. N. seite Drivers Orec Exectly	DVOE	40	005.00	A A A A A A A A A A A A A A A A A		4 405 00	005.00	400.00	4.045.00	<u> </u>
PMC - Post Masters Primary Care Certificate PMCP 20 685.00 \$ 13,700.00 - 340.00 100.00 1,775.00 \$ 15,9 *PMCP Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$105 for Lexicomp, \$80 Predictor Test -					\$ 33,565.00	-	1,105.00	325.00	100.00	1,945.00	\$ 37,040.00
*PMCP Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$105 for Lexicomp, \$80 Predictor Test Image: Content of the set of t	*PYCF Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$40 for APEA Te	st Fee, \$130 lab fee, \$105 Lexicomp	, Predict	or Test \$80							
*PMCP Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$105 for Lexicomp, \$80 Predictor Test Image: Content of the set of t		D140D		005.00	.		0.40.00	100.00		4 775 00	<u> </u>
MBN - Masters of Nursing/Masters of Business Administration MBNO 60 623.00 \$ 37,380.00 478.75 1,785.00 525.00 100.00 650.00 \$ 40,5 *MBNO Fees-NRA-513- \$90 Medatrax Fee; GNUR-530- \$110 Portfolio Fee; NRA-671- \$340 STTI NAC Fee; NRA-673-\$110 Portfolio Fee - <t< td=""><td></td><td></td><td>20</td><td>685.00</td><td>\$ 13,700.00</td><td>-</td><td>340.00</td><td>100.00</td><td></td><td>1,775.00</td><td>\$ 15,915.00</td></t<>			20	685.00	\$ 13,700.00	-	340.00	100.00		1,775.00	\$ 15,915.00
*MBNO Fees-NRA-513- \$90 Medatrax Fee; GNUR-530- \$110 Portfolio Fee; NRA-671- \$340 STTI NAC Fee; NRA-673-\$110 Portfolio Fee	*PMCP Fees-\$1500.00 Six Site Visits, \$90 Medatrax, \$105 for Lexicor	np, \$80 Predictor Test									
*MBNO Fees-NRA-513- \$90 Medatrax Fee; GNUR-530- \$110 Portfolio Fee; NRA-671- \$340 STTI NAC Fee; NRA-673-\$110 Portfolio Fee 1 1 Psychiatric Mental Health NP PMHNP 49 685.00 \$ 33,565.00 - 1,360.00 400.00 100.00 2,460.00 \$ 37,6 *Psychiatric Mental Health NP PMHNP 49 685.00 \$ 33,565.00 - 1,360.00 400.00 100.00 2,460.00 \$ 37,6 *Psych Mental Health Fees-\$250.00 Residency Fee, PMHN-652-\$105 Lexicomp, \$130 for Lab Fee; PMHN-630-\$35 TG Module, \$500 Site Visit Fee; PMHN-650 \$500 -											
Psychiatric Mental Health NP PMHNP 49 685.00 \$ 33,565.00 - 1,360.00 400.00 100.00 2,460.00 \$ 37,8 *Psych Mental Health Fees-\$250.00 Residency Fee, PMHN-652-\$105 Lexicomp, \$130 for Lab Fee; PMHN-630-\$35 TG Module, \$500 Site Visit Fee; PMHN-640-\$500 Site Visit Fee; PMHN-650 \$500 - 1,360.00 400.00 100.00 2,460.00 \$ 37,8 Post Master's Certificate PMHNP 27 685.00 \$ 18,495.00 - 765.00 225.00 2,210.00 \$ 21,6 *Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN						478.75	1,785.00	525.00	100.00	650.00	\$ 40,918.75
*Psych Mental Health Fees-\$250.00 Residency Fee, PMHN-652-\$105 Lexicomp, \$130 for Lab Fee; PMHN-630-\$35 TG Module, \$500 Site Visit Fee; PMHN-640-\$500 Site Visit Fee; PMHN-650 \$500 Post Master's Certificate PMHNP 27 685.00 \$18,495.00 - 765.00 225.00 2,210.00 \$ 21,6 *Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-693 - \$350 Residency Fee MSN Post MBA - MSN, Nursing Administration (for those with an MBA) Post MBA 30 595.00 \$ 17,850.00 - 935.00 275.00 100.00 490.00 \$ 19,6	*MBNO Fees-NRA-513- \$90 Medatrax Fee; GNUR-530- \$110 Portfolio	Fee; NRA-671- \$340 STTI NAC Fe	e; NRA-0	673-\$110 Po	rtfolio Fee						
*Psych Mental Health Fees-\$250.00 Residency Fee, PMHN-652-\$105 Lexicomp, \$130 for Lab Fee; PMHN-630-\$35 TG Module, \$500 Site Visit Fee; PMHN-640-\$500 Site Visit Fee; PMHN-650 \$500 Post Master's Certificate PMHNP 27 685.00 \$18,495.00 - 765.00 225.00 2,210.00 \$ 21,6 *Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-693 - \$350 Residency Fee MSN Post MBA - MSN, Nursing Administration (for those with an MBA) Post MBA 30 595.00 \$ 17,850.00 - 935.00 275.00 100.00 490.00 \$ 19,6					-						
Post Master's Certificate PMHNP 27 685.00 \$ 18,495.00 - 765.00 225.00 2,210.00 \$ 21,6 *Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee PMHN-693 - \$350 Residency Fee MSN Post MBA - MSN, Nursing Administration (for those with an MBA) Post MBA 30 595.00 \$ 17,850.00 - 935.00 275.00 100.00 490.00 \$ 19,6						-	,			,	\$ 37,885.00
*Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-693 - \$350 Residency Fee PMHN-693 - \$350 Residency Fee Image: Complex Co	*Psych Mental Health Fees-\$250.00 Residency Fee, PMHN-652-\$105	Lexicomp, \$130 for Lab Fee; PMHN	l-630-\$3t	5 TG Module	, \$500 Site Visit	Fee; PMHN-64	0-\$500 Site	Visit Fee; Pl	MHN-650	\$500	
*Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-652-\$105 Lexicomp Fee, \$130 Lab Fee, PMHN-630-\$35 TG Module, \$500 Site Visit; PMHN-640 \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-650 - \$500 Site Visit Fee; PMHN-693 - \$350 Residency Fee PMHN-693 - \$350 Residency Fee Image: Complex Co											
PMHN-693 - \$350 Residency Fee Image: Construction of the construct											
MSN Post MBA - MSN, Nursing Administration (for those with an MBA) Post MBA 30 595.00 \$ 17,850.00 - 935.00 275.00 100.00 490.00 \$ 19,6	*Pych Mental Health Certificate- PMHN-513-\$90 Medatrax; PMHN-65	2-\$105 Lexicomp Fee, \$130 Lab Fee	, PMHN	-630-\$35 TG	Module, \$500 S	Site Visit; PMHN	-640 \$500 S	ite Visit Fee	; PMHN-6	50 - \$50 <mark>0 S</mark> ite	Visit Fee
		Post MBA	30	595.00	\$ 17,850.00	-	935.00	275.00	100.00	490.00	\$ 19,650.00
		edatrax \$90									·

Program	Acronym	Credit	Cost per	Tuition	Embedded	Tech	ERF	Grad	Additional	Total
		Hours	Cr Hr		Resources	Fee		Fee	Fees	Cost
*Fees included in Grad Nursing										
Doctorate										
BDNP - Post-Baccalaureate Doctoral of Nursing Practice*	BDNP.FNP	70	859.00	\$ 60,130.00	-	1,615.00	665.00	100.00	5,255.00	\$ 67,765.00
*Additional Fees Include: Residency Fee \$400 x 3 Residencies, \$44	0 Project Fee, \$880 Project Fee, \$4	40 APEA,	\$105 Lexico	omp, \$130 Lab,	\$1,500 Site Visi	ts, \$80 Predi	ctor, \$880 F	Project Fee	9	
5	BDNP.PMHN	70		\$ 60,130.00		1,870.00	770.00			\$ 68,390.00
*Additional Fees Include: DNP-795-\$400 DNP Residency; DNP-810	-\$880 Project Fee, \$400 DNP Resid	dency; D	NP-752- \$13	30 Lab Fee, \$10	5 Lexicomp; DN	IP-790- \$535	Site Visit Fo	ee; DNP-7	791-\$500 Site	Visit Fee
DNP-811-\$440 Project Fee; DNP-792-\$500 Site Visit Fee, DNP-793	3-\$350 DNP Residency; DNP-812 \$	440 DNF	PResidency,	\$880 Project Fe	90					
	DNP	31	,	\$ 31,310.00		1,020.00	600.00	100.00	3,330.00	\$ 36,360.00
*Additional Fees Include:\$215 for Project II, \$850 Project III, \$215 P	roject, IV, \$850 Project V and \$400	x 3 Resid	dencies							
**Tuition for DNP also includes global travel - one trip per student										

Program	Acronym	Credit	Cost per	Tuition	Embedded	Tech	ERF	Grad	Additional	Total
		Hours	Cr Hr		Resources	Fee		Fee	Fees	Cost
Wesley Seminary *										
	MMIN,MMLO,MYFO,MCHR,									
Master of Arts in Ministry	MCPM,MWSP,MMPM,MPTH	36	530.00	\$ 19,080.00	-	480.00	240.00	100.00	-	\$ 19,900.00
	MMIN,MMLO,MYFO,MCHR,									
MA Non-Wesley Pastor \$100 Discount	MCPM, MWSP, MMPM	36	430.00	\$ 15,480.00	-	480.00	240.00	100.00	-	\$ 16,300.00
	MMIN,MMLO,MYFO,MCHR,									
MA Wesley Pastor \$200 Discount	MCPM,MWSP,MMPM	36	330.00	\$ 11,880.00		480.00	240.00	100.00	-	\$ 12,700.00
MDIV Master of Divinity (Includes Spanish)	MDIV,MDVO,MDVS,MDSO	75	530.00	\$ 39,750.00		1,000.00	500.00	100.00	-	\$ 41,350.00
MDIV with \$100 Discount	MDIV, MDVO, MDVS, MDSO	75	430.00	\$ 32,250.00		1,000.00	500.00	100.00	-	\$ 33,850.00
MDIV with \$200 Discount	MDIV,MDVO,MDVS,MDSO	75	330.00	\$ 24,750.00		1,000.00	500.00	100.00	-	\$ 26,350.00
Doctorate										
Doctorate in Ministry	DMIN	39	572.00	\$ 22,308.00		520.00	260.00	100.00		\$ 23,188.00
School of Health Sciences										
OTA - Occupational Therapy Assistant	ΟΤΑ	75	385.00	\$ 28,875.00	302.28	2,125.00	375.00	100.00	-	\$ 31,777.28
B.S. Health Sciences - Pre-Clinical										
MPH - Master of Public Health	MPH	42	595.00	\$ 24,990.00		1,275.00	375.00	100.00		\$ 26,740.00
MS Athletic Training	MSAT	33	520.00	\$ 17,160.00		935.00	275.00	100.00		\$ 18,470.00
OTD - Occupational Therapy Doctoral Program (Residential)	OTD	105		\$ 91,910.00			250.00	100.00		\$ 92,260.00
DPT - Doctor of Physical Therapy	DPT	124		\$ 99,000.00		-	281.25	100.00	-	\$ 99,381.25
Report all changes to Gail Whitenack at gail.whitenack@indwes.edu										

Cost of Attendance for IWU Certificate Programs, 2022-2023

		Tu	ition per	Program	Tot	al Program
Program	Credential		dit Hour	Credits		Tuition
Addictions Counseling	Graduate Certificate	\$	602	15	\$	9,030
Biology	Graduate Certificate	\$	480	18	\$	8,640
Child Advocacy Studies	Undergraduate Certificate	\$	1,062	15	\$	15,930
Christian Ministry Formation	Graduate Certificate	\$	530	14	\$	7,420
Clinical Mental Health Counseling	Graduate Certificate	\$	602	15	\$	9,030
Communications	Undergraduate Certificate	\$	395	15	\$	5,925
Criminal Justice	Undergraduate Certificate	\$	395	15	\$	5,925
Cyber Analyst	Undergraduate Certificate	\$	395	18	\$	7,110
Design Thinking	Undergraduate Certificate	\$	1,062	12	\$	12,744
Early Childhood Education - Transition to Teaching	Graduate Certificate	\$	480	24	\$	11,520
Early Childhood Teacher Training	Undergraduate Certificate	\$	395	21	\$	8,295
Elementary Education - Transition to Teaching	Graduate Certificate	\$	480	24	\$	11,520
Elementary Teacher Training	Undergraduate Certificate	\$	395	22	\$	8,690
English	Graduate Certificate	\$	480	18	\$	8,640
English as a New Language	Graduate Certificate	\$	480	15	\$	7,200
Family Nurse Practitioner	Post-Masters Certificate	\$	685	20	\$	13,700
General Studies	Undergraduate Certificate	\$	395	15	\$	5,925
Health Systems Leadership	Post-Masters Certificate	\$	595	20	\$	11,900
Human Resource Management	Undergraduate Certificate	\$	395	18	\$	7,110
Human Services	Undergraduate Certificate	\$	395	15	\$	5,925
Human Trafficking Studies	Undergraduate Certificate	\$	1,062	12	\$	12,744
Life Coaching	Undergraduate Certificate	\$	395	16	\$	6,320
Mathematics	Graduate Certificate	\$	480	18	\$	8,640
Nursing Administration	Post-Masters Certificate	\$	595	20	\$	11,900
Nursing Education	Post-Masters Certificate	\$	595	16	\$	9,520
Online Teaching and Learning	Graduate Certificate	\$	480	15	\$	7,200
Pastoral Care	Undergraduate Certificate	\$	395	16	\$	6,320
Pastoral Counseling	Undergraduate Certificate	\$	395	15	\$	5 <i>,</i> 925
Physics	Graduate Certificate	\$	480	18	\$	8 <i>,</i> 640
Principal Licensure - PLP	Graduate Certificate	\$	480	18	\$	8,640
Professional Coaching	Graduate Certificate	\$	602	18	\$	10,836
Project Management	Graduate Certificate	\$	559	18	\$	10,062
Psychiatric Mental Health Nursing	Post-Masters Certificate	\$	685	27	\$	18,495
Religious Studies	Undergraduate Certificate	\$	395	15	\$	5,925
School Administration	Graduate Certificate	\$	602	18	\$	10,836
Secondary Education - Transition to Teaching	Graduate Certificate	\$	480	18	\$	8,640
Seconary Teacher Training	Undergraduate Certificate	\$	395	18	\$	7,110
Special Education - Transition to Teaching	Graduate Certificate	\$	480	21	\$	10,080
Special Education Teaching	Graduate Certificate	\$	480	18	\$	8,640
Student Development Administration	Graduate Certificate	\$	602	18	\$	10,836
Technology/Digital Literacy	Graduate Certificate	\$	480	18	\$	8,640
TESOL	Undergraduate Certificate	\$	1,062	17	\$	18,054
Web Development	Undergraduate Certificate	\$	395	18	\$	7,110

Cost of Attendance for IWU-Marion Undergraduate Academic Programs, 2022-2023

The base residential undergraduate tuition rate is \$1062 per credit hour.

Total tuition charge depends on the number of credits taken per semester For students taking 1-5 credits hours, tuition is \$630 per credit hour. For students taking 6-8 credit hours (1/2 time), tuition is \$6,372 per semester, \$12,744 per year. For students taking 9-11 credit hours (3/4 time), tuition is \$9,558 per semester, \$19,116 per year. For students taking 12-17 credit hours (full time), tuition is \$14,842 per semester, \$29,684 per year. For credits above 17 in a given semester, tuition is \$1062 per credit hour.

Cost of attendance example calculations are included on the following page.

Program	Degree Sought
Accounting	Associate of Science (A.S.)
Accounting	Bachelor of Arts (B.A.)
Addictions Counseling	Bachelor of Science (B.S.)
Addictions Studies	Associate of Science (A.S.)
Adolescent Ministries	Associate of Science (A.S.)
Applied Health and Fitness	Bachelor of Science (B.S.)
Applied Music	Bachelor of Arts (B.A.)
Applied Spanish and Hispanic Culture	Bachelor of Arts (B.A.)
Art Education	Bachelor of Science (B.S.)
Athletic Training	Bachelor of Science (B.S.)
Biblical and Theological Studies	Bachelor of Arts (B.A.)
Biblical Literature	Associate of Arts (A.A.)
Biblical Literature	Bachelor of Arts (B.A.)
Biochemistry	Bachelor of Science (B.S.)
Biology	Associate of Science (A.S.)
Biology	Bachelor of Science (B.S.)
Biology Education	Bachelor of Science (B.S.)
Business Administration	Associate of Science (A.S.)
Business Administration	Bachelor of Arts (B.A.)
Chemistry	Associate of Science (A.S.)
Chemistry	Bachelor of Arts (B.A.)
Chemistry	Bachelor of Science (B.S.)
Chemistry Education	Bachelor of Science (B.S.)
Children's Ministry	Associate of Science (A.S.)
Children's Ministry	Bachelor of Science (B.S.)
Christian Education	Associate of Science (A.S.)
Christian Education	Bachelor of Science (B.S.)
Christian Ministries	Associate of Science (A.S.)
Christian Ministries	Bachelor of Science (B.S.)
Christian Ministries	Bachelor of Arts (B.A.)
Christian Worship	Bachelor of Science (B.S.)

Computer Information SystemsBachelor of Science (B.S.)Computer ScienceAssociate of Science (A.S.)Computer ScienceBachelor of Science (B.S.)Criminal JusticeBachelor of Science (B.S.)Design for Social ImpactBachelor of Arts (B.A.)Design for Social ImpactBachelor of Science (B.S.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)Elementary EducationBachelor of Arts (B.A.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)Exploratory StudiesBachelor of Science (A.S.)EnalsBachelor of Science (A.S.)Exploratory StudiesBachelor of Science (A.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)Graphic DesignBachelor of Science (A.S.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Interc	mmunity Development	Bachelor of Science (B.S.)
Computer ScienceAssociate of Science (A.S.)Computer ScienceBachelor of Science (B.S.)Criminal JusticeBachelor of Science (B.S.)Design for Social ImpactBachelor of Fine Arts (B.F.A.)Design for Social ImpactBachelor of Fine Arts (B.F.A.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)HinoryBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)IllustrationBachelor	· · ·	
Computer ScienceBachelor of Science (B.S.)Criminal JusticeBachelor of Science (B.S.)Design for Social ImpactBachelor of Arts (B.A.)Design for Social ImpactBachelor of Fine Arts (B.F.A.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Science (B.S.)English EducationBachelor of Science (B.S.)English EducationBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (A.S.)Exploratory StudiesBachelor of Science (A.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)International RelationsBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)International RelationsBa	•	
Criminal JusticeBachelor of Science (B.S.)Design for Social ImpactBachelor of Arts (B.A.)Design for Social ImpactBachelor of Fine Arts (B.F.A.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Arts (B.A.)Exercise ScienceBachelor of Science (B.S.)EntrepreneurshipBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (A.S.)EnalsBachelor of Science (A.S.)General StudiesBachelor of Science (A.S.)General StudiesBachelor of Science (A.S.)Graphic DesignBachelor of Science (B.S.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)Intercultural Studies <t< td=""><td>•</td><td></td></t<>	•	
Design for Social ImpactBachelor of Arts (B.A.)Design for Social ImpactBachelor of Fine Arts (B.F.A.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Arts (B.A.)EntrepreneurshipBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Excretise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)Enal StudiesBachelor of Science (B.S.)General StudiesBachelor of Science (B.S.)Garaphic DesignBachelor of Science (B.S.)General StudiesBachelor of Science (B.S.)Graphic DesignBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)Intercultural StudiesAssociate of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)Intercultu	•	
Design for Social ImpactBachelor of Fine Arts (B.F.A.)EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.) <t< td=""><td></td><td></td></t<>		
EconomicsBachelor of Science (B.S.)Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Science (B.S.)EntrepreneurshipBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)ExtrepreneurshipBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Science (B.S.)General StudiesAssociate of Science (B.S.)Global MinistriesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Journa	-	
Elementary EducationBachelor of Science (B.S.)EnglishBachelor of Arts (B.A.)English EducationBachelor of Science (B.S.)EntrepreneurshipBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBac		
EnglishBachelor of Arts (B.A.)English EducationBachelor of Science (B.S.)EntrepreneurshipBachelor of Science (B.S.)Exceptional Needs EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Science (B.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.)Intercultural StudiesBachelor of Science (B.S.) </td <td></td> <td></td>		
English EducationBachelor of Science (B.S.)EntrepreneurshipBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (B.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesBachelor of Science (A.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (B.S.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)Leadership St	•	
EntrepreneurshipBachelor of Arts (B.A.)Exceptional Needs EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Arts (B.A.)General StudiesBachelor of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (A.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	-	
Exceptional Needs EducationBachelor of Science (B.S.)Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)Leadership StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Ar	-	
Exercise ScienceBachelor of Science (B.S.)Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	· · ·	
Exploratory StudiesAssociate of Science (A.S.)Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	•	
Exploratory StudiesBachelor of Science (B.S.)FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)JournalismBachelor of Science (A.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Arts (B.A.)		
FinanceBachelor of Arts (B.A.)General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
General StudiesAssociate of Science (A.S.)General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (A.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
General StudiesBachelor of Science (B.S.)Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Science (B.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (A.S.)JournalismBachelor of Science (B.S.)Jachelor of Science (B.S.)Bachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
Global MinistriesBachelor of Arts (B.A.)Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Arts (B.A.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Science (B.S.)		
Graphic DesignBachelor of Arts (B.A.)Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Arts (B.A.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
Health Promotion and WellnessBachelor of Science (B.S.)HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
HistoryBachelor of Arts (B.A.)HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
HistoryBachelor of Science (B.S.)Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)		
Honors HumanitiesBachelor of Science (B.S.)Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	•	
Human Communication StudiesBachelor of Arts (B.A.)Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	•	
Human Communication StudiesBachelor of Science (B.S.)IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	man Communication Studies	
IllustrationBachelor of Arts (B.A.)Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	man Communication Studies	
Intercultural StudiesAssociate of Science (A.S.)Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	Istration	
Intercultural StudiesBachelor of Arts (B.A.)International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	ercultural Studies	
International RelationsBachelor of Science (B.S.)JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	ercultural Studies	
JournalismBachelor of Arts (B.A.)JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	ernational Relations	
JournalismBachelor of Science (B.S.)Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	urnalism	
Leadership StudiesBachelor of Science (B.S.)ManagementBachelor of Arts (B.A.)	urnalism	
Management Bachelor of Arts (B.A.)	adership Studies	
	•	Bachelor of Arts (B.A.)
	arketing	Bachelor of Arts (B.A.)
Mathematics Bachelor of Science (B.S.)	-	
Mathematics - Interdisciplinary Bachelor of Science (B.S.)		
Mathematics Education Bachelor of Science (B.S.)		
Media Communication Bachelor of Arts (B.A.)	edia Communication	
Media Communication Bachelor of Science (B.S.)	edia Communication	
Media Design Bachelor of Arts (B.A.)		
Medical Technology Bachelor of Science (B.S.)		
Multimedia Communication Bachelor of Arts (B.A.)		
Music Composition Bachelor of Music (B.Mus.)	usic Composition	

Music Therapy Bachelor of Arts (B.A.) Nursing Bachelor of Science (B.S.) Pastoral Counseling and Care Bachelor of Science (B.S.) Performance Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Photography Bachelor of Science (B.S.) Photography Bachelor of Science (B.S.) Physics Bachelor of Science (B.S.) Political Science Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Engineering Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Scial Studies Bachelor of Science (B.S.) Scoial Work Bachelor of Science (B.S.) Spanish Bachelor of Science (B.S.) Sports Management	Music Education	Bachelor of Science (B.S.)
Nursing Bachelor of Science (B.S.) Pastoral Counseling and Care Bachelor of Music (B.Mus.) Philosophy and Theology Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Photography Bachelor of Science (B.S.) Physical and Health Education Bachelor of Science (B.S.) Political Science Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Engineering Bachelor of Science (B.S.) Pre-Engineering Bachelor of Science (B.S.) Pre-Engineering Bachelor of Science (B.S.) Recreation and Camp Administration Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Education Bachelor of Science (B.S.) Social Studies Education Bachelor of Arts (B.A.) Spanish Bachelor of Science (B.S.) Social Work Bachelor of Arts (B.A.) Spanish Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Media Bachelor of Science (B.S.) <td>Music Therapy</td> <td></td>	Music Therapy	
Pastoral Counseling and Care Bachelor of Science (B.S.) Performance Bachelor of Arts (B.A.) Phiotography Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Physical and Health Education Bachelor of Science (B.S.) Political Science Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Art Derapy Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Recreation and Camp Administration Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Scial Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Sopanish Bachelor of Science (B.S.) <tr< td=""><td>Nursing</td><td>Bachelor of Science in Nursing (B.S.N.)</td></tr<>	Nursing	Bachelor of Science in Nursing (B.S.N.)
Performance Bachelor of Music (B.Mus.) Philosophy and Theology Bachelor of Arts (B.A.) Photography Bachelor of Arts (B.A.) Photography Bachelor of Fine Arts (B.F.A.) Physical and Health Education Bachelor of Science (B.S.) Physics Bachelor of Science (B.S.) Political Science Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Recreation and Camp Administration Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Ministries Bachelor of Sci	Pastoral Counseling and Care	
Photography Bachelor of Arts (B.A.) Photography Bachelor of Fine Arts (B.F.A.) Physical and Health Education Bachelor of Science (B.S.) Physics Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Spanish Bachelor of Science (B.S.) Sports Ministries Bachelor of Science (B.S.) Sports Magement Bachelor of Science (B.S.) Sports Media Bachelor of Science (B.S.)		Bachelor of Music (B.Mus.)
Photography Bachelor of Arts (B.A.) Photography Bachelor of Fine Arts (B.F.A.) Physical and Health Education Bachelor of Science (B.S.) Physics Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Spanish Bachelor of Science (B.S.) Sports Ministries Bachelor of Science (B.S.) Sports Magement Bachelor of Science (B.S.) Sports Media Bachelor of Science (B.S.)	Philosophy and Theology	Bachelor of Arts (B.A.)
Photography Bachelor of Fine Arts (B.F.A.) Physical and Health Education Bachelor of Science (B.S.) Physics Bachelor of Science (B.S.) Political Science Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Bachelor of Acts (B.A.) Spanish Bachelor of Acts (B.A.) Spanish Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Media Bachelor of Science (B.S.) Strategic Communication Bachelor of Arts (B.A.) <		Bachelor of Arts (B.A.)
Physical and Health Education Bachelor of Science (B.S.) Polysics Bachelor of Science (B.S.) Political Science Pre-Law Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Art Therapy Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Pre-Medical Science Bachelor of Science (B.S.) Recreation and Camp Administration Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Science Education Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Studies Bachelor of Science (B.S.) Social Work Bachelor of Science (B.S.) Song Writing Bachelor of Arts (B.A.) Spanish Education Bachelor of Science (B.S.) Sports Management Bachelor of Science (B.S.) Sports Ministries Bachelor of Science (B.S.) Strategic Communication Bachelor of Science (B.S.) Strategic Communication Bachelor of S		
PhysicsBachelor of Science (B.S.)Political Science Pre-LawBachelor of Science (B.S.)Political Science Pre-LawBachelor of Science (B.S.)Pre-Art TherapyBachelor of Science (B.S.)Pre-EngineeringBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Social WorkBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Arts (B.A.)Sports ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)Th		
Political ScienceBachelor of Science (B.S.)Political Science Pre-LawBachelor of Science (B.S.)Pre-Art TherapyBachelor of Science (B.S.)Pre-EngineeringBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Social WorkBachelor of Arts (B.A.)SpanishBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre Educat	·	
Political Science Pre-LawBachelor of Science (B.S.)Pre-Art TherapyBachelor of Science (B.S.)Pre-EngineeringBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Action (B.S.)Social WorkBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science	-	
Pre-Art TherapyBachelor of Science (B.S.)Pre-EngineeringBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Science IducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Science (B.S.)SpanishBachelor of Science (B.S.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)	Political Science Pre-Law	
Pre-EngineeringBachelor of Science (B.S.)Pre-Medical ScienceBachelor of Science (B.S.)PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strateging Bighs to Speakers of Other LanguagesBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Visual CommunicationBachelor of Science (B.S.)Visual CommunicationBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Visual CommunicationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.) <td>Pre-Art Therapy</td> <td></td>	Pre-Art Therapy	
Pre-Medical ScienceBachelor of Science (B.S.)PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Social WorkBachelor of Arts (B.A.)Sogn WritingBachelor of Arts (B.A.)SpanishBachelor of Science (B.S.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelo		
PsychologyBachelor of Science (B.S.)Recreation and Camp AdministrationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Social WorkBachelor of Arts (B.A.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Science (B.S.)Sort ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Science (B.S.)Worship ArtsBachelor of Science (B.S.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesBache		
RecreationBachelor of Science (B.S.)Science EducationBachelor of Science (B.S.)Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)User Experience DesignBachelor of Frine Arts (B.F.A.)Visual Communication DesignBachelor of Frine Arts (B.F.A.)Visua	Psychology	
Science EducationBachelor of Science (B.S.)Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social VorkBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Science (B.S.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)Studio ArtsBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre Bachelor of Science (B.S.)Theatre Bachelor of Science (B.S.)Visual Communication DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worshi		
Secondary EducationBachelor of Science (B.S.)Social StudiesBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Social Work (B.S.W.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Wo		
Social StudiesBachelor of Science (B.S.)Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Science (B.S.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Science (B.S.)Worship ArtsBachelor of Science (B.S.)Worship ArtsBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MunistriesBachelor of Arts (B.A.)Worship MusitriesBachelor of Arts (B.A.)Worship MusitriesBachelor of Arts (B.A.)Worship Musitries<	Secondary Education	
Social Studies EducationBachelor of Science (B.S.)Social WorkBachelor of Social Work (B.S.W.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesB	-	
Social WorkBachelor of Social Work (B.S.W.)Song WritingBachelor of Arts (B.A.)SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Arts (B.A.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship MinistriesBa	Social Studies Education	
SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Social Work	
SpanishBachelor of Arts (B.A.)Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Song Writing	Bachelor of Arts (B.A.)
Spanish EducationBachelor of Science (B.S.)Sports ManagementBachelor of Science (B.S.)Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Worth MinistriesAssociate of Science (A.S.)	Spanish	Bachelor of Arts (B.A.)
Sports MediaBachelor of Science (B.S.)Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Arts (B.A.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)Worth MinistriesAssociate of Science (A.S.)	Spanish Education	
Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Arts (B.A.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Worth MinistriesAssociate of Science (A.S.)	Sports Management	Bachelor of Science (B.S.)
Sports MinistriesBachelor of Science (B.S.)Strategic CommunicationBachelor of Arts (B.A.)Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Arts (B.A.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Worth MinistriesAssociate of Science (A.S.)	Sports Media	Bachelor of Science (B.S.)
Strategic CommunicationBachelor of Science (B.S.)Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Science (B.S.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Arts (B.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)		
Studio ArtsBachelor of Arts (B.A.)Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Arts (B.A.)	Strategic Communication	Bachelor of Arts (B.A.)
Teaching English to Speakers of Other LanguagesBachelor of Science (B.S.)TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Worthip Studies and Music MinistryBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Strategic Communication	Bachelor of Science (B.S.)
TheatreBachelor of Arts (B.A.)TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Studio Arts	Bachelor of Arts (B.A.)
TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Teaching English to Speakers of Other Languages	Bachelor of Science (B.S.)
TheatreBachelor of Science (B.S.)Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)		Bachelor of Arts (B.A.)
Theatre EducationBachelor of Science (B.S.)User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Arts (B.A.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Theatre	
User Experience DesignBachelor of Fine Arts (B.F.A.)Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Theatre Education	
Visual Arts EducationBachelor of Science (B.S.)Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	User Experience Design	
Visual Communication DesignBachelor of Arts (B.A.)Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)		
Visual Communication DesignBachelor of Fine Arts (B.F.A.)Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Visual Communication Design	
Worship ArtsBachelor of Arts (B.A.)Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)		
Worship MinistriesBachelor of Science (B.S.)Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)		
Worship Studies and Music MinistryBachelor of Arts (B.A.)WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	Worship Ministries	
WritingBachelor of Arts (B.A.)Youth MinistriesAssociate of Science (A.S.)	•	
Youth Ministries Associate of Science (A.S.)		
	Youth Ministries	Bachelor of Science (B.S.)

		IWU-	Marion Unde	rgraduate Exa	mple Budget	s 2022-2023				One Se	mester
	On Campus Full Time	On Campus 3/4 time	On Campus Half Time	Married Student Housing Full-time	Married Student Housing Spouse	Married Student Housing w/ meals	Married Student Housing Spouse w/ meals	On 1 Sem/ Off 1 Sem (FT)	On 1 sem with par 1 sem (FT)	On Campus FT 1 Sem	
Tuition	29684	19116	12744	29684	29684	29684	29684	29684	29684	14842	
Room	5092	5092	5092	4800	0	4800	0	2546	2546	2546	
Board	4958	4958	4958	0	0	4958	4958	2479	2479	2479	
Books	1196	897	598	1196	1196	1196	1196	1196	1196	598	
Supplies	188	141	94	188	188	188	188	188	188	94	
Personal Expenses	1590	1590	1590	1590	1590	1590	1590	1590	1590	795	
Living Expenses	NA	NA	NA	914	914	914	914	2671	1392	NA	
Food Expenses	NA	NA	NA	1838	1838	NA	NA	845	440	NA	
Transportation	494	494	494	494	494	494	494	802	802	247	
BUDGET TOTAL	43202	32288	25570	40704	35904	43824	39024	42001	40317	21601	
DIRECT COST	39734	29166	22794	34484	29684	39442	34642	34709	34709	19867	

	PARFT	PARQT	PARHT	PARLT	
Tuition	29684	19116	12744	3780	
Books	1196	897	598	299	
Supplies	188	141	94	47	
Personal Expenses	1590	1590	1590	0	
Living Expenses	2784	2784	2784	2784	
Food Expenses	880	880	880	880	
Transportation	1110	1110	1110	1110	
BUDGET TOTAL	37432	26518	19800	8900	

	Commuter FT	Commuter 3/4 Time	Commuter HT	Commuter LT
Tuition	29684	19116	12744	3780
Books	1196	897	598	299
Supplies	188	141	94	47
Personal Expenses	1590	1590	1590	0
Living Expenses	5342	5342	5342	5342
Food Expenses	1690	1690	1690	1690
Transportation	1110	1110	1110	1110
BUDGET TOTAL	40800	29886	23168	12268

PARFTF/	PARQTF/	PARHTF/	PARLTF/
PARFTS	PARQTS	PARHTS	PARLTS
14842	9558	6372	1890
598	448.5	299	149.5
94	71	47	24
795	795	795	0
1392	1392	1392	1392
440	440	440	440
555	555	555	555
18716	13259.5	9900	4450.5

Commuter	Commuter	Commuter	Commuter
FT One	QT One	HT One	LT One
Semester	Semester	Semster	Semester
14842	9558	6372	1890
598	448.5	299	149.5
94	71	47	24
795	795	795	0
2671	2671	2671	2671
845	845	845	845
555	555	555	555
20400	14943.5	11584	6134.5

1-5 credit hours @ \$ 630.00 Charge for credit hours over 17 \$ 1,062.00 The highlighted budgets above use 3 hours for an est. budget Cost of Attendance for IWU-Marion Graduate Academic Programs, 2022-23

Program	Degree Sought	Tuition per Credit Hour		Prgram Credits	Total Program Tuition	
Athletic Training	Master of Science (M.S.)	\$	742	63	\$	46,746
Biblical and Theological Studies	Master of Arts (M.A.)	\$	580	36	\$	20,880
Christian Theology	Master of Arts (M.A.)	\$	580	60	\$	34,800
Clinical Addictions Counseling	Master of Arts (M.A.)	\$	602	48	\$	28,896
Clinical Mental Health Counseling	Master of Arts (M.A.)	\$	602	60	\$	36,120
Community Care	Master of Arts (M.A.)	\$	602	36	\$	21,672
Marriage and Family Counseling/Therapy	Master of Arts (M.A.)	\$	602	60	\$	36,120
School Counseling	Master of Arts (M.A.)	\$	602	48	\$	28,896
Social Work	Master of Social Work (M.S.W.)	\$	559	60	\$	33,540
Spiritual Care	Master of Arts (M.A.)	\$	582	36	\$	20,952
Student Development Administration	Master of Arts (M.A.)	\$	602	36	\$	21,672
Practical Theology	Master of Practical Theology (M.P.Th.)	\$	580	72	\$	41,760